wl

=
o
u
5

R 27 AR BRI i U AR St E TR (B 1 5)

Rk, 27 4F BB KEF T LR TR RS E TR (1 8) 1T, RICEDDHEZAIZL S,
(% N PR OHIE)

14 MASETEOBFITRARRHZEN 118 THZBEIL., MARRETEOREEZ A
mHFNE 49, 386 FH &9 5,

2 WA THEOMIEDRHADKX Sy B UMLKy Z L OSFE ONATIER O AR TR O
BT, T 1R RARHTREAIE] (X5,

PRk 2 THE6 H 1 2 AR
BRRENRE B A W

_4‘]_



=1 * m AN % H F B O E

o A
(B - TH)
F/e T FHIE AT O%A i 1E %A 7t
LS A 4 20, 185 118 20, 303
1 — i = § B A& 17, 185 118 17, 303
% A = i 49, 268 118 49, 386

_42_




(AL - TH)

A 1E Al O i £ at
11, 360 118 11,478
11, 360 118 11,478
49, 268 118 49, 386






